
Q1) A) Fill in the blanks (Attempt any 5 out of 6) : [5]
i) Which of the following is not the characteristics of agricultural

labour?
a) Unorganized b) Economically exploited
c) High standard of living d) Low education

ii) What are the problems of agricultural labour in India?
a) Seasonal employment b) Indebtedness
c) Low social status d) All of the above

iii) The conflict and disputes between employers and employees on
any industrial matters are known as _________.
a) Political relations b) Human relations
c) Social relations d) Industrial relations

iv) Absence of strikes and lock-outs in an indicator of ________.
a) Peaceful Industrial Relations
b) Disturbed Industrial Relations
c) Unwanted Industrial Relations
d) Partial Industrial Relations

v) The industrial disputes act in India was passed in ______.
a) 1926 b) 1946
c) 1947 d) 1948

vi) The make in India Initiative was launched by prime Minister in ____.
a) 2017 b) 2020
c) 2014 d) 2012
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B) Match the following : [5]

i) FPO a) 2019
ii) Farm bill b) Farmers Organization
iii) Maharashtra Industrial Policy c) Agricultural Labour
iv) Low Education d) 2020
v) Industrial disputes e) Conflict between employer &

Labour

Q2) Write a short note (Any 2 out of 4) : [10]

a) Causes of Industrial disputes.
b) Impact of climate an agriculture.
c) Water management initiatives.
d) Types of agricultural labour.

Q3) a) Describe the problems of agricultural labour. [8]

b) Explain in detail the impact of Covid-19 pandamic on agricultural sector
of India. [7]

Q4) a) Explain the remedies to resolve the industrial disputes in India. [8]

b) Define Industrial relations. Explain the historical background of Industrial
relations. [7]
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àíZ àíZ àíZ àíZ àíZ 1) A) [aH$må`m OmJm ^am. (H$moUË`mhr 5) [5]
i) Imbrbn¡H$s H$moUVo eoV_Owam§Mo d¡{eï> Zmhr.

A) Ag§K{Q>V ~) Am{W©H$ Ñï>çm emo{fV
H$) Cƒ amhUr_mZ S>) Aën{ejU

ii) ^maVmVrb eoV_Owam§Mo H$moUVo àíZ AmhoV.
A) h§Jm_r amoOJma ~) H$O©~mOmar nUm
H$) Aën gm_m{OH$ XOm© S>) gd©

iii) H$moUË`mhr Am¡Xçmo{JH$ ~m~rdê$Z _mbH$ d H$m_Jma `m§À`mV hmoUmè`m g§Kfm©g
.............. Ago åhUVmV.
A) amOH$s` g§~§Y ~) _mZdr g§~§Y
H$) gm_m{OH$ g§~§Y S>) Am¡Xçmo{JH$ g§~§Y

iv) g§n d Q>mio~§XrMm A^md hm ............... Mm {ZX}eH$ Amho.
A) em§VVm_` Am¡Xçmo{JH$ g§~§Y ~) Aem§V Am¡Xçmo{JH$ g§~§Y
H$) AZno{jV Am¡Xçmo{JH$ g§~§Y S>) A§eV: Am¡Xçmo{JH$ g§~§Y

v) ^maVm_Ü ò Am¡Xçmo{JH$ g§Kf© H$m`Xm .............. `m dfu g§̂ d Pmbm.
A) 1926 ~) 1946
H$) 1947 S>) 1948

vi) n§VàYmZm§Zr _oH$ BZ B§{S>`m `moOZm .............. `mdfu Om{ha Ho$br.
A) 2017 ~) 2020
H$) 2014 S>) 2012
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~) `mo½` OmoS>çm bmdm. [5]

i) FPO A) 2019

ii) H¥$fr {dYo`H$ ~) eoVH$ar g§KQ>Zm

iii) _hmamï´> Am¡Xçmo{JH$ YmoaU H$) eoV_Oya

iv) Aën{ejU S>) 2020

v) Am¡Xçmo{JH$ g§Kf© B) _mbH$ d H$m_Jma dJm©Vrb g§Kf©

àíZ àíZ àíZ àíZ àíZ 2) {Q>nm {bhm. (H$moUË`mhr XmoZ) [10]

A) Am¡Xçmo{JH$ g§Kfm©Mr H$maUo

~) hdm_mZmMm eoVrdarb n[aUm_

H$) Ob ì`dñWmnZ nwT>mH$ma

S>) eoV_Owam§Mo  àH$ma

àíZ àíZ àíZ àíZ àíZ 3) A) eoV_Owam§À`m g_ñ`m {deX H$am. [8]

~) ^maVmÀ`m H¥$frjoÌmdarb H$mo{dS> - 19 _hm_m[aMo n[aUm_ g{dñVanUo ñnï> H$am. [7]

àíZ àíZ àíZ àíZ àíZ 4) A) ^maVmVrb Am¡Xçmo{JH$ g§Kfm©À`m {ZdmaUmgmR>r Cnm``moOZm ñnï> H$am. [8]

~) Am¡Xçmo{JH$ g§~§Y - ì`m»`m Xçm. Am¡Xçmo{JH$ g§~§YmMr Eo{Vhm{gH$ nmíd©̂ y_r ñnï> H$am.
[7]
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